## APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	Project Title.	: Irvinedale Drive Transmission Main - Phase 2								
city of	Contractor:	Contractor: Schrader Excavating & Grading								
Ankeny	Address:	rcial Dr, Wa	al Dr, Walford, IA 52351							
bringing it all together	Finance Buo	Finance Budget Code: 921.3621.4450 Finan				inance Project#		621.4450		
	Vendor Proje	ect or Inve	oice #:	119.016	- 67.01	P	o# <sup>¯</sup>		N.	
	Original Contract Date: Decemb			r 16, 20	019	Vendo	r#	9	574	
Date of Council Meeting:	5-1	4-20			PAYM	ENT RE	QUE	ST#	1	
	PAYIV	IENT PER	IOD: From: F	ebruary	y 26, 2020	Throu	gh: _	April 1	15, 2020	
			-						4	
Contract Summary										
Original Contract Amount:		\$	1,903,873.59							
Net change by Change Orde	rs:	\$	- 0=							
Contract Amount to Date: (line				\$	1,903,	873.59				
*				)			è			
Total completed and stored t	o date:	\$	389,255.12							
150	pleted Work:	\$	19,462.76							
Total Earned less Retainage:	•			\$	369,	792.36				
Less previous applications fo				\$		-	ć			
SUBTOTAL	1					,		4	369,792.36	
						ā				
OTHER CHARGES (Attach an	itemized list)						\$			
ν	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					8				
CURRENT PAYMENT DUE							\$		369,792.36	
									•	
Balance to finish, including re	etainage.			\$	1.534.	081.23				
Data loo to in lon, moldang re	namago.		9		.,,		ď			
Contract Time Remaining (If a	annlicable)		88.50	Worki	ing Days					
Contract Time Remaining (in	тррпсавісу	29		***************************************	ing Dayo					
The undersigned Contractor certifies that										
in accordance with the Contract Document payments received from the Owner, and the				work for w	vhich previous C	ertificate(s)	for Pay	ment were Iss	sued and	
Construction Contractor Appl	(6, 19-5)			ler Exc	avating & G	Grading				
Onstruction Contractor Appr	Firm Nam	16	Ochrac	ICI EXC	availing & C	rading				
		91.74	. 10 1 2					4-16-0	2020)	
Signature	2						Date	7 76		
Engineer / Lonsultant Approv	/al:		Sny	der & A	Associates,	Inc.				
Katrina & Kinsey	Firm Nam	ne								
							Data	April 16,	2020	
Signature Ot of A	f.						Date			
City of Ankeny Staff Approva	I:							. 1	,	
Worland	Copyle							4/20	120	
Signature							Date		1	
									196	
Cubmit to:		Don Cla	urk DE Divocto	of Man	nicinal I I+:I:4	ios				
Submit to:	Onkonvious s		rk, P.E Director		63-3529		ax:	(515) 0	63-3535	
E-mail: dclark@	ankenyiowa.go	<u>JV</u>	Phone:	010) 9	03-3029		ах. —	(313) 9	03-3030	

	COM	RACI	PRICE	DE	HIL
Т					

	CONTRACT PRICE DETAIL										
ITEM	DESCRIPTION		ORIGINAL	CHANGE	TOTAL	UNIT PRICE	EXTENDED PRICE	QUANTITY	VALUE OF	REMAINING	PERCENT
NO.	(Include Change Order # if Applicable)	UNITS	PROPOSED QUANTITY	(BY CHANGE ORDER)	QUANTITY	UNIT PRICE	EXTENDED PRICE	COMPLETE	COMPLETED WORK	QUANTITY	COMPLETE
-			***********	ORDER							
	Trench Foundation	TON	600		600	\$ 34.66	\$ 20,796.00		\$ -	600	0.00%
2	Trench Compaction Testing	LS	52			\$ 3,500.00 \$ 146.78	\$ 3,500.00 \$ 7,632.56		\$ -	52	0.00%
	Water Main, Trenched, PVC, 12" Water Main, Trenched, PVC, 24"	LF LF	3,703		3,703			513		3,190	13.85%
	Water Main, Trenched, PVO, 24"	LF	210		210		\$ 48,778.80	40		170	19.05%
	Water Main, Trenchless, PVC, 24"	LF	3,968		3,968	\$ 301.87	\$ 1,197,820.16	192		3,776	4.84%
	Valve, Gate, 24"	EA	1			\$22,134.97	\$ 22,134.97		\$ -	1	
	Tapping Valve Assembly, 12"x12"	EA	2			\$ 8,791.08	\$ 17,582.16		\$ -	1	0.00%
	Water Service Adjustment Fire Hydrant Assembly	EA EA	6			\$ 4,830.62 \$ 4,738.72	\$ 4,830.62 \$ 28,432.32	1	\$ 4,738.72	5	
	Pavement, PCC	SY	160			\$ 82.86	\$ 13,257.60		\$ -	160	0.00%
	Pavement, HMA	SY	410			\$ 129.03			\$ -	410	0.00%
13	Removal of Driveway	SY	60			\$ 7.90	\$ 474.00		\$ -	60	0.00%
	Driveway, Paved, PCC, 6"	SY	60		60				\$ -	60 150	0.00%
	Driveway, Granular	TON	150 570		150 570	\$ 40.09 \$ 4.79		37.5	\$ - \$ 179.63	533	6.58%
	Pavement Removal Painted Pavement Markings, Solvent/Waterborne	STA	5.3	_	5.3			57.5	\$ -	5.3	0.00%
	Traffic Control	LS	1			\$ 6,175.95		0.07	\$ 432.32	0.93	7.00%
	Conventional Seeding and Fertilizing, Type 1	AC	4.5		4.5	\$ 1,455.98	\$ 6,551.91		\$ -	4.5	0.00%
20	Conventional Seeding, Type 4	AC	4.5		4.5		\$ 1,970.91		\$ -	4.5	0.00%
	Wattles, 9"	LF LF	2,000		2,000	\$ 1.78 \$ 0.41			\$ -	2,000	0.00%
	Wattles, Removal Silt Fence	LF LF	2,000			\$ 1.78		1,478	\$ 2,630.84	522	73.90%
	Silt Fence, Removal	LF	2,000		2,000	\$ 0.24	\$ 480.00	1,170	\$ -	2,000	0.00%
25	Erosion Control Mulching, Hydromulching	AC	9		9	\$ 2,869.35	\$ 25,824.15		\$ -	9	0.00%
26	Tree Protection Fence	LF	600		600	\$ 2.96	\$ 1,776.00	600	\$ 1,776.00		100.00%
	Mobilization	LS	1		1	\$50,000.00		0.25	\$ 12,500.00 \$ -	0.75	25.00% 0.00%
28					-		\$ - \$ -		\$ -	-	0.00%
30		-			-		\$ -		\$ -		0.00%
31					2		\$ -		\$ -	•	0.00%
32							\$ -		\$ -	- 19	0.00%
33					•		\$ -		\$ -	•	0.00%
34					- :		\$ - \$ -		\$ -	-	0.00%
35 36							\$ -		\$ -		0.00%
37							\$ -		\$ -		0.00%
38							\$ -		\$ -		0.00%
39					-		\$ -		\$ -		0.00%
40			_		-		\$ - \$ -		\$ - \$ -	-	0.00%
41							\$ -		\$ -		0.00%
43					-		\$ -		\$ -		0.00%
44					: <del>-</del>		\$ -		\$ -		0.00%
45							\$ -		\$ -	-	0.00%
46					-		\$ - \$ -		\$ - \$ -	-	0.00%
48							\$ -		\$ -	-	0.00%
48					-		\$ -		\$ -		0.00%
50					-		\$ -		\$ -	-	0.00%
51					1.51		\$ -		\$ -		0.00%
52					- 2		\$ - \$ -		\$ - \$ -	-	0.00%
53		-				-	\$ -		\$ -	-	0.00%
54 55							\$ -		\$ -	-	0.00%
56					-		\$ -		\$ -		0.00%
57					-		\$ -		\$ -	(40)	0.00%
58							\$ -		\$ -	-	0.00%
59	The second secon						\$ - \$ -		\$ - \$ -		0.00%
60							\$ -		\$ -	(*)	0.00%
62					-		\$ -		\$ -		0.00%
63					) e		\$ -		\$ -	250	0.00%
64					-		\$ -		\$ -		0.00%
65					-		\$ - \$ -		\$ - \$ -		0.00%
66	0.00000				-		\$ - \$ -	-	\$ -	-	0.00%
67 68					-		\$ -		\$ -		0.00%
69					•		\$ -		\$ -	-	0.00%
70					-		\$ -		\$ -	-	0.00%
71					-		\$ -		\$ -	- :	0.00%
72		-			•		\$ - \$ -		\$ - \$ -		0.00%
73 74		-			-		\$ -		\$ -	- :	0.00%
75					-		\$ -		\$ -		0.00%
, 0											

TOTAL CONTRACT AND VALUE OF WORK COMPLETED TO DATE

\$ 1,903,873.59

\$ 140,679.49

7.39%

## APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

No.	Applications for Date	Amoun
1		
2		
3	11	
4		
5		
6		
7		
8		
9		1
10		
11		
12		
13		
14		
15		
16		
17		
18		
19		
20		
21		
22		
23		
24		
25		
26		
27		
28		
29		
30	- 12	
31		
32		
33		
34		
V (		

No.	Applications for Date	Amount
36		
37		
38		
39		
40		
41		
42		
43		
44		
45		
46		
47		
48		
49		
50		
51		
52		
53		
54		
55		
56		
57		
58		
59		
60		
61		
62		
63		
64		
65		
66		
67		
68		
69		
70	R	

No.	Date	Amount
1		
2		
3		
4		
5		
6		
7		
8		
9		
10		
11		
12		
13		
14		
15		
16		
17		
18		
19		
20		
21		
22		
23	7/	
24	==	
25		

Contract Time Remaining	
Contract Period:	Working Days
Original Contract Date:	12/16/2019
Original Contract Time:	100.0
Added by Change Order:	fin le
Contract Time to Date:	100.0
Time Used to Date:	11.5
Contract Time Remaining:	88.5

TOTAL

## APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

MATERIAL STORED ONSITE PRICE DETAIL

ITCM	MATERIAL STORED ONSITE PRICE DETAIL		QUANTITY		76230.es	
ITEM NO.	DESCRIPTION	UNITS	ONSITE	UNIT PRICE	EXT	ENDED PRICE
	24" PVC RJ PIPE	LF	1,120	\$ 111.14	\$	124,476.80
	24" PVC PUSH-ON PIPE	LF	1,200		\$	66,780.00
	24" DI PUSH-ON PIPE	LF	200		\$	24,690.00
	24" GATE VALVES	EA	1		\$	16,759.66
5	12" GATE VALVES	EA		\$ 2,783.46	\$	5,566.92
6	FIRE HYDRANTS	EA	5	\$ 2,060.45	\$	10,302.25
7					\$	-
8					\$	
9					\$	
10					\$	H
11					\$	
12					\$	
13	a a second				\$	-
14					\$	-
15					\$	ė.
16					\$	_
17					\$	-
18					\$	-
19					\$	-
20					\$	-
21	12				\$	<del>. Ta</del> r
22					\$	
23					\$	-
24					\$	-
25	and the same of th				\$	170
26					\$	=
27					\$	-
28					\$	
29					\$	_
30					\$	_
31					\$	-
32					\$	=
33					\$	-
34					\$	_ (5)
35				B:	\$	_
36					\$	177
37					\$	
38					\$	
		-			\$	-
39		-			\$	-
40		<u> </u>			\$	
41					\$	-
42		-			\$	
43	The second secon	-			\$	
44		-			\$	
45		-			\$	
46					\$	
47					Ψ	-

MATERIAL STORED ONSITE TO DATE

\$ 248,575.63